FM3E10A31HH#1T RERILFIKKELZEES
BREER (HAIRKE) (BF=EAR+EH)

| R 4 EE s D B g ( R (W) —®) B ook (%)

7§ 3 1 = 3 1 = 3 1 =2 i I
B H 103,484 112, 261| 21b, 745 57,818 62,113 119,931 45,0666 50, 148| 95, 814| 55.87 bd. 33 5. 59
K BT 12,985 14, 231 27, 216 7,497 7,833 19,330 D, 488 0, 398 11,886 57.74 0b. 04 6. 33
s T 9,109 10,018 19, 127 5, 688 0,048 11, 736 3,421 3,970 7,391 02.44 60. 37 6l. 36
Hi 5T 11,021 12,2066 23, 287 0, 697 7,316 14,013 4, 324 4, 950 9,274 060.77 09. 64 60. 18
Y T 30,813 38, 709| 74, 522 20,700 21,857 42,557 1b,113 16,852 31,965 5bH7.80 50. 46 57.11
(il =il 172,412 187,485 399, 897| 98,400 105, 167 203, b67| 74,012 82, 318| 156, 330] 57.07 56. 09 56. b6
7K -SFHT 7,434 7,879 1b,313 4, 687 4,925 9,612 2, 147 2,954 b, 701 63.05 62. 01 62. 77
i AT 7,434 7,879 1b,313 4, 687 4,925 9,612 2, 147 2,904 b, 701 63.05 62. 01 62. 77
%1 XE 179,846 19b, 364| 37b,210| 103, 087 110, 092| 213, 179 76, 759 85, 272| 162, 031| 5b7. 32 56. 35 56. 82
B 20, 309 27,254 53,0563 1b,243 1b, 781 31,024, 11,0006 11,473] 22,539 57.94 57. 90 57.92
/N T 11,780 12,283 24, 063 7, 556 7,792 1b, 348 4, 224 4,491 3,715 04.14 03. 44 03. 78
fig YL T 27,300 29,111 bo,416| 1b,041 1b,0681| 30,722 12,204 13,430 25,694 55.09 3. 87 4. 46
AT ] 31,643 33,41b| 065,058 17,576 18,007 3b,043| 14,007 1b, 348 29,415 5b.b4 24. 07 24. 79
(i 7 97,037 102, 063| 199, 100| bb,416 57,321 112, 737| 41,0621 44,742 86, 363] 57.11 56. 16 b6. 62
oA 1, 027 1, 137 2, 164 683 132 1,415 344 405 749 066. 50 04. 38 65. 39
P K AT 4, 139 4, 532 8,071 2, 798 2, 960 D, 158 1, 341 1, 572 2,913 67.60 65. 31 66. 41
By ET 8,512 9,089 17,601 b, D22 b, 88b| 11,407 2,990 3, 204 0, 194 064.87 64. 75 04. 81
£ {x HT 3, 842 4, 054 7, 896 2, 608 2, 640 b, 248 1, 234 1,414 2,048 067.88 65. 12 66. 46
e e HT 4, 267 4,179 8, 446 2,822 2,038 5, 460 1, 445 1, 541 2,986 606.14 63. 13 64. 65
FSPSLAL) 3, 329 3, 400 0, 729 2,437 2, 390 4, 827 892 1,010 1,902 73.21 70. 29 71.73
# 3k HT b, 183 0, 222 12,005 4, 147 4, 242 8, 389 1, 636 1, 980 3,016 71.71 68. 18 69. 88
i g 30,899 32,0613| 63,512 21,017 21,487 42,504 9,882 11,126, 21,008 68.02 65. 88 66. 92
2 XEf 127,936 134, 0676| 262,612 76,433 78,808| 155, 241| 51,503 5b, 868| 107, 371| 59. 74 b8. b2 9. 11
i g 209, 449 289, b48| 558, 997| 153,816 162, 488| 316, 304| 11b,633 127,000 242,693 57.09 b6. 12 H6. 58
i g 38, 333 40,492 718,825 25,704 26,412 52,116 12,629 14,0804 26,709 67.05 65. 23 66. 12
Ik g 307, 7182 330, 040| 637,822 179, 520 188, 900| 368, 420| 128, 2062 141, 140, 269, 402| 58. 33 7. 24 57. 76
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FM3E10A31HH#1T RERILFIKKELZEES
BRREAEER (EAIKE) (ER)
TR L AEHER () BEEL  (B) #EER (W) — B B oE ok (%)
7§ 3 1 =2 U3 gy 2t i Py =3 3 1
B H 103,442 112, 180| 21b,622| 57,810 62,101 119,911 45,632 50,079 95, 711] 55.89 Hd. 36 bd. 01
X B o 12,978 14, 224, 27, 202 7,497 7,833 1b, 330 o, 481 0,391 11,872 b57.77 5. 07 56. 36
s o 9,106 10,012 19, 118 b, 687 0,048 11,735 3,419 3, 964 7,383 62.45 60. 41 6l. 38
. Hi 5T 11,016 12,264, 23, 280 0, 696 7,315 14,011 4, 320 4, 949 9, 269, 060.78 b9. 65 60. 18
| Y H T 30, 198 38, 68b| 74,483 20,096 21,853| 42,549 15,102 16,832 31,934 57.81 56. 49 57.13
* (i 7 172,340 187, 365 359, 705| 98, 386 105, 150 203, b36| 73,954 82, 215| 156, 169] 57.09 6. 12 56. 58
FK-SEHT 7,432 7,877 15,309 4, 687 4,925 9,612 2, 745 2,952 b, 097 63.07 62. 52 62. 79
i AT 7,432 7,877 15, 309 4, 687 4, 925 9,012 2, 7145 2,902 0,097 063.07 02. 52 62. 79
F 1 XE 179,772 19b, 242 37b,014| 103,073 110,075 213, 148| 76,699 85, 167| 161, 866| b57. 34 6. 38 b6. 84
HE T 20, 298 27,244 53, b42| 1b,243 15,779 31,022 11,005 11,465 22,520 57.96 57.92 7. 94
/N T 11,773 12,273 24, 046 7, 554 7,790 1b, 344 4,219 4, 483 8,702 64. 16 063. 47 063. 81
fis YL T 27,299 29,105 5b6,404| 15,040 1b,0681| 30,721 12,259 13,424 25,683] 55.09 3. 88 4. 47
A= TR} 31,020 33,388| 6b,014] 17,571 18,061| 35,0632 14,005 15,327 29, 382| bbh.bo 4. 09 4. 81
(i 7 90, 996 102, 010| 199, 006| 5b,408 57,311| 112, 719| 41, 588 44,699 86, 287| b7.12 56. 18 b6. 64
o T 1, 026 1, 136 2,162 683 132 1,415 343 404 747 06,57 04. 44 65. 45
. P K EiTHT 4, 138 4, 532 8,070 2, 7198 2, 960 D, 7108 1, 340 1, 572 2,912 067.062 65. 31 66. 41
2 B g MY 8, 008 9,086 17,594 b, 022 b, 88b| 11,407 2, 986 3, 201 0, 187 64.90 04. 77 04. 83
~ £ {x HT 3, 840 4, 054 7, 894 2, 608 2, 640 b, 248 1, 232 1,414 2,046 67.92 65. 12 66. 48
e e HT 4, 263 4, 177 3, 440 2, 822 2, 638 5, 460 1,441 1, 539 2,980 06. 20 63. 16 64. 69
BB UHT 3, 329 3, 398 0, 727 2,437 2, 389 4, 826 892 1, 009 1,901 73.21 70. 31 71.74
# 3k HT b, 180 0,216 11, 996 4, 147 4, 240 8, 387 1,633 1,976 3,009 71.75 68. 21 69. 91
i 7 30,884 32,599 63,483 21,017 21,484 42, 501 9,807 11,115 20,982 68.0b5 065. 90 06. 95
& 2 XE 127,880 134, 0609| 262,489 76,425 78, 795| 1bb, 220, 51,455 5b, 814| 107, 269| 59. 76 58. b4 9. 13
(i 7 209, 336 289, 37b| 558, 711| 153,794 162, 461| 316, 25b5| 11b, 542 126,914 242, 456| 57. 10 00. 14 56. 60
7 i 7 38,3160 40,476 718,792 25,704 26,409 b2,113| 12,0612 14,0067, 26,679 67.08 05. 25 066. 14
Ik g 307, 602 329, 8b1| 637,503 179,498 188, 870| 368, 368| 128, 154 140, 981 269, 135| 58. 34 7. 26 57. 78
SERE (LA  (EW)




FM3E10A31HH#1T RERILFIKKELZEES
BRERGEE (EAIKE) (GE)

g il nr 4 LA EHER (W) BE g (B) #=EEH (W) — () B ok (%)

7§ U3 1 = i 1 = % Py i 1
BT 42 81 123 8 12 20 34 69 103] 19. 05 14. 81 16. 26
K BT 7 7 14 0 0 0 7 7 14 0. 00 0. 00 0. 00
s o 3 0 9 1 0 1 2 0 S 33.33 0. 00 11.11

g H 5T 5 2 7 1 1 2 4 1 b 20.00 50. 00 28. 57

| Y 15 24 39 4 4 8 11 20 31| 26.067 16. 67 20. 01

<[
0] i 12 120 192 14 17 31 o8 103 161] 19.44 14. 17 16. 15
7K M-SFHT 2 2 4 0 0 0 2 2 4 0. 00 0. 00 0. 00
i AT 2 2 4 0 0 0 2 2 4 0. 00 0. 00 0. 00
%1 XE 74 122 196 14 17 31 60 105 165] 18.92 13. 93 15. 82
B E T 11 10 21 0 2 2 11 8 19 0. 00 20. 00 9. 52
/N P T 7 10 17 2 2 4 5) 8 13| 28.957 20. 00 23. 53
fis YL T 0 0 12 1 0 1 5) 0 11| 16.067 0. 00 8. 33
ELAETT I ] 17 27 44 5) 0 11 12 21 33| 29.41 22.22 25. 00
[if] 7 41 3 94 8 10 18 33 43 70 19.51 18. 87 19. 15
woHOHT | | 2 0 0 0 1 1 2 0. 00 0. 00 0. 00

- K AITHT | 0 1 0 0 0 1 0 1 0. 00 0. 00 0. 00

2 B gy MY 4 3 7 0 0 0 4 3 7 0. 00 0. 00 0. 00

X
£ {x HT 2 0 2 0 0 0 2 0 2 0. 00 0. 00 0. 00
e e HT 4 2 0 0 0 0 4 2 0 0. 00 0. 00 0. 00
FSPSLAL) 0 2 2 0 1 1 0 1 1 0. 00 50. 00 50. 00
# 3k HT 3 0 9 0 2 2 3 4 7 0. 00 33. 33 22. 22
i 7 15 14 29 0 3 3 | §5) 11 26 0. 00 21.43 10. 34
%2 XET 516} 07 123 8 13 21 48 b4 102] 14. 29 19. 40 17.07
(i g 113 173 286 22 27 49 91 146 2370 19.47 15. 01 17.13

7 i 7 17 16 33 0 3 3 17 13 30 0. 00 18. 75 9. 09
Ik 7 130 189 319 22 30 D2 108 159 207 16.92 15. 87 16. 30
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